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Question Number : 1 Question Id : 2549896534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A multi-programming system can be defined as a:

Options :

1. ® computer system that permits multiple users to run programs at the same time

2. ®# computer system that permits to run similar programs at multiple time

3. ¥ computer system that permits multiple programs simultaneously on a single processor

4. ® computer program that runs on multiple processors

Question Number : 1 Question Id : 2549896534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Aeet grnfaT s = 82

Options :

1. ¥ Yo 0T heR RAer St UahIfdeh IUTTThdlst el U &l T9d § TRITH 37 S i A &d1 8
2. ® Qep QT R RA%ed Sit Acdiuel AT R GHTE WIUTH 39 i i gAfd &dT 8

3. ¥ 9 SR [OeeH St o g1 TR UR Ueh 1Y hg UHITH ohl SIA &a1 8

4, % Qe UHT hge YT St Yehlfdeh THER R 3 gidT 8

Question Number : 2 Question Id : 2549896917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What of the following characteristics of read-only memory (ROM) makes it useful?
Options :

1. ¥ ROM information can be easily updated.

2. # ROM provides very large amounts of inexpensive data storage.

3.+ Data in ROM is non-volatile, that is, it remains there even without electrical power.

4. ¥ ROM chips are easily swapped between different brands of computers.



Question Number : 2 Question Id : 2549896917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

-1ttt #FR (ROM) &t 351 & & opt+ Y faivar 3¢ Iuahdt s=rdt 82
Options :

1. ¥ ROM dhl STHRHLM ohl AT & 3TUSC fohaT ST Tehdl &

2. ¥ ROM Tt S WS hl Igd TSI AT UG ol &

3.+ ROM # 3e1 Aiatcicrsd giaT 8, 3rfd, T8 seifdee drer & fom oft agf gar &
4. % ROM e smart @ fafa= sigy o sheged & ofta @y gt St 8

Question Number : 3 Question Id : 2549896935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One TB storage capacity isequalto _____ MB.
Options:

1. ¥ 10241

2. v 10242

3. % 10243

4. % 10244

Question Number : 3 Question Id : 2549896935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

U el WSRUT &HdT _ TH& oh SRTeR gidl g
Options:

1. ¥ 10241

2. v 10242

3. % 10243

4. % 10244

Question Number : 4 Question Id : 2549897536 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the key combination to delete text to the end of the sentence in an OpenOffice writer?
Options :

1. # Ctrl + Del

2. ¥ Ctrl + Shift + Del

3. # Shift + Del

4. ® Tab + Del



Question Number : 4 Question Id : 2549897536 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

U 3ATthd A8eX (OpenOffice writer) #, fhelt arery & 3id T dore ol fSefie A o i fong di-aE Qiiéape ar
IugHT fehar SITaT 872

Options :

1. % Ctrl + Del

2. ¥ Ctrl + Shift + Del
3. ® Shift + Del

4. % Tab + Del

Question Number : 5 Question Id : 2549897591 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
DVD stands for .

Options :

1. * Digital Vertical Disc

2. ¥ Digital Versatile Disc

3. % Data Varying Disc

4. # Digital Vertical Data

Question Number : 5 Question Id : 2549897591 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

DVD ehT quiey &7 87

Options :

1. ® Digital Vertical Disc (fSfSica aféama fewhn)
2. ¥ Digital Versatile Disc (f8fSieet adferser @)
3. # Data Varying Disc (32T a1 fe%h)

4. ® Digital vertical Data (f$fSieet afdenar Sa)

Question Number : 6 Question Id : 2549898471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which function converts an octal number to hexadecimal in MS-Excel 2019?
Options :

1. ¥ O2H function

2. ¥ OCT2HEX function

3. # OCTTOHEXD function



4. % OCT2HEXD function

Question Number : 6 Question Id : 2549898471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 #, &l &1 therH fhdl stferrer e ol gerars e # uRafdd envdr 82
Options :

1. # O2H HherE

2. ¥ OCT2HEX tha

3. # OCTTOHEXD WhasH

4. ¥ OCT2HEXD e

Question Number : 7 Question Id : 2549898813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A ____ isastationary pointing device with a ball mechanism on its top.
Options:

1. % trackball

2. ® mouse

3. # touchpad

4. * touchscreen

Question Number : 7 Question Id : 2549898813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

__ U RR Ui feams & S ot wR ue siet gk o giar 81
Options :

1. ¢ Sopdld

2. % O34

3. % T90s

4. % T A

Question Number : 8 Question Id : 2549899354 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which type of computer peripheral is dot-matrix, deskjet, inkjet and laser?
Options:

1. # Keyboard

2. # Software



3. ®* Monitor
4. % Printer

Question Number : 8 Question Id : 2549899354 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sle-Af¢ad, Swhvte, hoie 3R oor fAH 7 & fohd TR & e titheed &2
Options :

1. ® Fr-aE

2. % HioedR

3. ® fAfAx

4. ¥ iR

Question Number : 9 Question Id : 25498912047 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most basic and comprehensive backup method, where all data is sent
to another location?

Options :
1. ® Restoration
2. # Incremental
3. # Differential
4.+ Full

Question Number : 9 Question Id : 25498912047 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAHfafad # & s 9t G gardt 3R sarues dersrg fafd 8, STaT IRT S gk WM IR 9l Si1dT1 872
Options :

1. ¥ JRA

2. % gehtHee

3. ¥ femiAge

4. gt

Question Number : 10 Question Id : 25498922522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Optimizing the drives helps to run the PC smoother and boot up faster. Which of the following
options is used to open the Optimize drives in Windows 10?

Options :



1. ¢ Click the Search bar on the taskbar and enter defrag & select Defragment and Optimise
Drives.

2. % Click the Start menu on the taskbar and enter administrative tools.
3. ® Click the Search bar on the taskbar and enter Control Panel.

4. % Click the Search bar on the taskbar and enter Windows system.

Question Number : 10 Question Id : 25498922522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

139 ohl HIEHTSS &3 ¥ PC ohl I U T Tl 3R dSft ¥ ¢ e # Ggraan et 81 Windows 10 #,
SEHATEST 134 ! Wiet & oy 71 7 & e faared a1 Iuah fokar STrar 87

Options :

1. ¢ TRIR & T9 IR W foeteh e 3R SIThTT &of e IR iR "Sighie R SHifeerTsst g8a” g4
2. ¥ TRRER o WIE A< R forerer hd 3R geffAedfea god der i

3. # TRGIR o Gd IR TR foeteh b 3R chelel Uiet Uer il

4. ® TPER & T IR TR faetah e 3R fdsieT Aen der e

Question Number : 11 Question Id : 25498929852 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The black and white elements of a barcode is scanned by illumination of the code with the ,
which is then converted into matching text.

Options :

1. # yellow light
2. ® green light
3. ¥ red light

4. # blue light

Question Number : 11 Question Id : 25498929852 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IR & et R Ghe Sraaal i GRI IS & S T ThA forarn Strar 8, 19 a1g # A ¢ore d aga
f&ar Smar 1

Options:

1. ¥ diet g1
2. % g U
3. ¢ ATt UehIT
4. % Yot UepIT

Question Number : 12 Question Id : 25498930069 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following devices scans a particular document by recognising its individual
characters and converting it into editable form?

Options :

1. # Optical Mark Reader

2. ¥ Optical Character Recognition

3. ¥ Magnetic Ink Character Recognition
4. % Bar Code Reader

Question Number : 12 Question Id : 25498930069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fefeiRea & & el 9 fearsy fond faiv STegHc ch STefTT-37eT gull ehl Uga-ien? 3R I Qfefdn arg wu d

TR Th hdt &2

Options :

1. % 3ifteehet HTeh dex (Optical Mark Reader)

2. ¢ Jifieenel dhedex RapfAsr (Optical Character Recognition)

3. ® Aifee g dheaex RepfmivE (Magnetic Ink Character Recognition)
4. % gRaIe A (Bar Code Reader)

Question Number : 13 Question Id : 25498930890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following plotter draw on negatively charged paper with positively charged toner?
Options :

1. % Drum

2. % Flatbed

3. ¥ Electrostatic

4. # Inkjet

Question Number : 13 Question Id : 25498930890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafEa & 9 s 91 wilex gt JMafAd TR & 1Y K UMcHS SMAfAT hRTST R =3 F=1d1 82
Options :

1. % gn

2. ® geleds

3. ¥ geadiRfes

4, % depoic



Question Number : 14 Question Id : 25498930923 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following devices consists of one or more buttons and a stick to control the
movement of the cursor on the screen by pointing in all directions?

Options :

1. ®* Mouse
2. # Keyboard
3. ¥ Joystick
4. % Light pen

Question Number : 14 Question Id : 25498930923 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ffefea d & forg Suenor & goft femait # S ek ThiH IR ek & Hae ot RAfRa & & fag g ar srfde
e 3R Uah f@eah gidt 82

Options :

1. % AR

2. & H-aE

3. ¥ Sifafees

4. % A3 U9

Question Number : 15 Question Id : 25498931004 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the function of the printer spooler in Windows 10?

Options:

1. # To specify the parameters of the print job that are waiting to process to OS.

2. * To manage the message sent from the printer to the operating system when a print job is
completed.

3. ¥ To manage the printing jobs sent from a computer to a printer or print server.

4. % To queue the print job that are waiting to print.

Question Number : 15 Question Id : 25498931004 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Windows 10 #, fliex TeR T T i 872

Options :

1. ¥ fUe i o WRHIR [ & o fag St OS W= J41fad g1+ hl udien s 38 8|



2. ® e i Q1 g1 WR fUier ¥ SHATRfET [8%en &l 9t 714 Ter &bl ueifad e & ferg|
3. ¥ SR ¥ flier 77 flie gk W 9t g fifd ot ot weifdd s o fergl
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Question Number : 16 Question Id : 2549898921 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An ethernet address is made up of how many bytes?
Options :

1.%3

2. % 4

3.%85

4.4 6

Question Number : 16 Question Id : 2549898921 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Toh 3URAC Ugd foha I1S¢d ol o1 gidT 872
Options :

1. %3

2. % 4

3.%5

4.4 6

Question Number : 17 Question Id : 2549899542 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a reason to print to a File?

Options:

1. ¥ To be able to print a document at a later time without having to open it in the software that
originally created the file.

2. ® To save a document to a PDF file that can be used or printed on a computer which does not
support the software program used to create the document.

3. ¥ To email a file to another person to print that does not have the software program used to
create the file.

4.+ To delete a file so that to print a document at a later time.

Question Number : 17 Question Id : 2549899542 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



fAfalRea § T o9 a1 wise R fiie oA &1 SRoT F81 872
Options:
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Question Number : 18 Question Id : 25498910938 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following printers does NOT require ink, toner and other supplies?
Options :

1. ® Laser jet printer only

2. # Inkjet printer only

3. ¥ Thermal printer

4. % both Inkjet printer and Laser printer

Question Number : 18 Question Id : 25498910938 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

f=fafad & @ ena-3 flier ont @egl, TR SR 3= Y[ <hl Srrasehal g aidl 872
Options :

1. ® doR Sie iR

2. ¥ gepoie fiiR

3. ¢ ¥Hd fiR

4. % Fahoic fiieR 3R or fiier

Question Number : 19 Question Id : 25498911142 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the amount of amplification for the speakers?
Options :

1. ¥ Watts

2. ® Frequency response

3. # Total harmonic distortion

4. ¥ Frequency input



Question Number : 19 Question Id : 25498911142 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAfefea d & @k & forg uaes &6 A @ 8?2
Options:

1. aeg

2. ¥ el Reuig

3. ® e gl el

4, % thigdet gqe

Question Number : 20 Question Id : 25498911279 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to connect to a computer to generate sound, which is, one of the
most common output devices?

Options :

1. ¥ Speaker

2. % Printer

3. ¥ Microphone
4. # Plotter

Question Number : 20 Question Id : 25498911279 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

eI I A o oIy FeR F hae A o forg RfafRaa # & fergen Iuahr fhar Siran 8, St fos g oA
373cye fearsa d 4 Uah 872

Options :

1. ¢ TR

2. % iz

3. ¥ TSIt

4, ¥ iR

Question Number : 21 Question Id : 25498913429 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following options gives correct sequence to Compressing a File in Windows OS?

A. Right-click on the file.

B. Select 'Send To' from the menu that appears

C. Browse to find the file you wish to compress

D. Select Compressed (zipped) folder from the list of options to create a compressed folder



Options :

1. % AB,C,D
2. % ACB,D
3. % AB,D,C
4.+ C,AB,D

Question Number : 21 Question Id : 25498913429 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAafafaa & @ & a1 faeey fdsisr situa & fordt wiger ot Idifed ezt o1 9l ohd 2ar 82

A. ThT3d TR 3e-feeteh i

B. fewars & aret A ¥ 98 ¢ @1 99 A

D. IHifed thieer I o forg faeneat & g=ht @ ddifed (foite) wies o1 g &2
Options:

1. % AB,C,D

2. % ACB,D

3. % AB,D,C

4.+ C,AB,D

Question Number : 22 Question Id : 25498913859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Data Encryption Standard (DES), due to , a small change in plain text results in a very great
change in the ciphertext.

Options :

1. ® Iris effect

2. # Gabber effect

3. ¥ Avalanche effect

4. % Newton effect

Question Number : 22 Question Id : 25498913859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

32T UAh WUSE (DES) H, & ShRUT Wi ¢eRe H BT I dgaltd e # 9gd Je1 uRad drdr g1
Options :

1. % 3MRE gthee

2. % TR thae

3. ¢ Qg 3thee




4, % Y there

Question Number : 23 Question Id : 25498918566 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
IAB stands for

Options :

1. ® Internet Act Board

2. # Internet Archives Board

3. ¥ Internet Architecture Board

4. % Internet Act Band

Question Number : 23 Question Id : 25498918566 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IAB @1 guf &4 1 8?2

Options :

1. % Internet Act Board (3¢39¢ Tar §13)

2. ® Internet Archives Board (3239¢ 3fTehigest d18)

3. ¥ Internet Architecture Board (3exAc 3ffcheaR I1S)
4. ® Internet Act Band (3¢ Uae §8)

Question Number : 24 Question Id : 25498920753 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MIME stands for

Options :

1. ¢ Multipurpose Internet Mail Extensions
2. ¥ Multipurpose Internet Mail Email

3. # Multipurpose International Mail Entity

4. ®¥ Multipurpose International Mail End

Question Number : 24 Question Id : 25498920753 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MIME a1 guf &4 &1 872

Options :

1. ¢ Multipurpose Internet Mail Extensions (Heciud¥ ge3-c Ad TaRIee )
2. ® Multipurpose Internet Mail Email (Fe&iqus gex-e At 39)



3. # Multipurpose International Mail Entity (AecIutd gexA2Me Aet Ufedl)
4. % Multipurpose International Mail End (Aeciquq gexAsHe Ad §r8)

Question Number : 25 Question Id : 25498924310 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Unix, which command is used to find the resource limits of the session?
Options :

1. % ulimit

2. % getrlimit

3. # rlimit

4. ® setrlimit

Question Number : 25 Question Id : 25498924310 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e | fohd shAT=8 T IUTNT A= i RE foifiie wge e & forg fohar Simar 82
Options :

1. % ulimit

2. % getrlimit

3. # rlimit

4. ® setrlimit

Question Number : 26 Question Id : 25498924519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ___ file format is used for a comma separated value file.
Options :

1.4 .csv

2. % cs

3. % f

4, % ccf

Question Number : 26 Question Id : 25498924519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

R TSt WhiFe ohT SUANT AT TURES Iy hISH o fory foma Sirar 872
Options :

1.4 .csv

2. % cs



3. % f

4. % ccf

Question Number : 27 Question Id : 25498924605 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the file format of a system file?
Options:

1. % SF

2. ® SAF

3. ¥ CBA

4.+ CAB

Question Number : 27 Question Id : 25498924605 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
f&%eH thIget o1 thigel it T giar 872
Options:

1. % SF

2. # SAF

3. ¥ CBA

4. ¥ CAB

Question Number : 28 Question Id : 25498925174 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Some image file formats such as PNG or BMP use
Options :

1. # defragmenting algorithm

2. ¥ |ossless data compression algorithm

3. * lossy data compression algorithm

4. # fragmenting algorithm

Question Number : 28 Question Id : 25498925174 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FHS FHST I3d thide, Sid foh PNG 1Y@ BMP <Rl IUANT &hd & |
Options :

1. % SihHfET geiien

2. ¥ A9 S1eT hIF TRed



3. % ATt STeT HEIE TemiRed
4. % DA TemiRed

Question Number : 29 Question Id : 25498938509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a completely new installation of an operating system or application on a
computer?

Options :

1. ¥ A clean installation

2. # A headless installation

3. # An unattended installation

4. * Asilent installation

Question Number : 29 Question Id : 25498938509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAefafad # @ o= 91 hger iR SiTaRfET ff%en a1 gftereher &t Ot aRg @ 5 U1 8?2
Options :

1. ¥ U 9Tk 3@ (A clean installation)

2. # Ueh g2 3w I?M (A headless installation)

3. ¥ U 3F3e~es 3101’ (An unattended installation)

4. % grgei—e 31 (A silent installation)

Question Number : 30 Question Id : 25498940418 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When is acceptance testing performed in Agile development?
Options :

1. # Daily

2. # Onrequest of customer

3. # After system is ready

4. ¥ At the end of each sprint

Question Number : 30 Question Id : 25498940418 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

QoTTsel saaudc (Agile development) & i ulteror el fohar SiTdT 872
Options :

1. ® I




2. % TIgeh oh ATIY WR
3. % (WA ARG & a1g
4. ¥ g 8 & 3id |

Question Number : 31 Question Id : 2549896772 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT belong to the category of microcomputers?
Options :

1. # Desktop computers

2. ¥ Cray-1

3. ¥ Palmtop computers

4. ® Workstations

Question Number : 31 Question Id : 2549896772 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAfeifad & & ole 91 A15ent heger i Aoft @ Heifdq =151 82
Options :

1. ¥ SThY hgeH
2. v th-1

3. % ufeefy e
4, ¥ qchee g

Question Number : 32 Question Id : 2549899067 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Electronic Data Interchange is necessaryin ______
Options :

1. % B2C e-Commerce

2. % C2Ce-Commerce

3. ¥ B2B e-Commerce

4. * manual transaction

Question Number : 32 Question Id : 2549899067 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ZAAGeIh SeT 3edo H 3MTageh gidT 8l
Options :



1. % B2C 3-op1ed
2. % C2C 3-pid
3. ¥ B2B 3-&iad
4, % g&IaTferd -4

Question Number : 33 Question Id : 2549899143 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does the abbreviation 'WWW' stands for?
Options :

1. ¥ World With Web

2. ¥ Wide Wide Web

3. ® World Width Web

4.+ World Wide Web

Question Number : 33 Question Id : 2549899143 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
WWW a1 gufey &1 82

Options :

1. ¥ World With Web (a<s fa 249)

2. % Wide Wide Web (3758 a138 d9)
3. ¥ World Width Web (a<s fagy d9)
4.+ World Wide Web (a<< a138 d9)

Question Number : 34 Question Id : 25498911069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is scalable font?

Options :

1. ¥ Afont that can increase in size without causing any degradation in the quality.
2. # Ttis a font with different characters and different pitches.

3. ¥ Itis an outline of each character which are geometrically defined.

4. % It is an object-oriented graphics language such as PostScript.

Question Number : 34 Question Id : 25498911069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Thelael thI=C T 872



Options :

1. ¢ Qop Whi=C I T[0T | ohls FIRTGE ATY o1 31TehR & oI ehdT 81

2. % foferg o=t & Ty fafera gorf & wiee

3. # e quf Sl Yoh U], oY sarfidia ®u € gReriya foear mar g
4. % Qe 3flssiare I UTTtherd AT, SiY foh gieefehe

Question Number : 35 Question Id : 25498911902 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Keyboard shortcut, F1 in MS-Excel 2019
Options :

1. ¢ displays the Excel Help task pane.

2. ® pastes a name from the Paste Name dialog box (if names have been defined in the
workbook).

3. ¥ creates a chart of the data in the current range in a separate Chart sheet.

4. % cycles through all combinations of absolute and relative references in a formula if a cell
reference or range is selected.

Question Number : 35 Question Id : 25498911902 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 # Hia1$S Qiidene, F1 |

Options :

1. ¢ T ged aeh U Ueffd axar @

2. ¥ U% A9 SN sl & 9 U ohdl & (IS A sprfgfaenr & uReifa fohg g €)
3. ¥ Uep 3renT AT¢ ffe & ada™ 2uft & SeT &1 Teh T1é I 8

4, % Tk o A1 & G GAISH! & srsgiqe ok Relfea deof & ven g1 # afe It Haof a1 Joft a1 =g+ fokar sirar
g

Question Number : 36 Question Id : 25498911948 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

To insert a picture in a columnar section, click the tab and click Picture in the Illustrations
group in MS-Word 2019.

Options:

1. ¥ Insert

2. # Page Layout
3. ¥ Home

4. ¥ Design



Question Number : 36 Question Id : 25498911948 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H shiqHTR e H Gop AT g O e oh folg, 39 IR foeteh e iR geigem U A R R
[ENCACTY

Options :

1. v 34¢

2. ¥ O A3

3. ¥ gm

4. % f&aimga

Question Number : 37 Question Id : 25498924648 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a portable computer?
Options :

1. % Laptop

2. % PDAs

3. ¢ Desktop

4. ® Tablet

Question Number : 37 Question Id : 25498924648 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
=1 & @ el A1 Geh Uidaet ehgeR ol 572
Options :

1. ¥ dueiy

2. % PDAs

3. ¢ &l

4, % ¢

Question Number : 38 Question Id : 25498924653 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
PDP-11 is an example of

Options:

1. % minicomputers

2. ® microcomputers

3. ¥ supercomputers

4. ®¥ mainframe computers



Question Number : 38 Question Id : 25498924653 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
PDP-11, T Yh IS8 0T 8
Options :

1. ¢ Ot g

2. % HTSehl hYeR

3. ¥ R X

4, % A R

Question Number : 39 Question Id : 25498924663 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to 'Align Right' the text in Microsoft Word 2019?
Options:

1. % Ctrl+ L

2. % Ctrl+E

3.¥ Ctrl +R

4. % Ctrl+ A

Question Number : 39 Question Id : 25498924663 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Word 2019 #, ¢eRe & '&d T¥@uT (Align Right)' & felq IaiT fohdm ST aTell Ueh chl-aTS RMidahe o
8?

Options :

1. % Ctrl+ L

2. % Ctrl+ E

3.¥ Ctrl +R

4, % Ctrl + A

Question Number : 40 Question Id : 25498924672 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcuts will you use to open the Margin dialog box in Microsoft Word
2019?

Options :
1. % Alt+P+S
2.¥ Alt+P+M



3. % Alt+P+N
4, % Alt+P

Question Number : 40 Question Id : 25498924672 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Microsoft Word 2019 #, #ifsia S/« sfag @i & forg Amfefaa & @ forg fY-a1< Qiicene o Iuaht faar

AT 872
Options :

1. % Alt+P+S
2.V Alt+P+M
3. % Alt+P+N
4. % Alt+P

Question Number : 41 Question Id : 25498925215 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following are connected to the Backbones i.e., fiber optic trunk lines at Network
Access Points with high speed lines in internet Architecture?

Options :

1. % Internet Service Providers
2. % Domain Name Server

3. # Social networks

4. % News groups

Question Number : 41 Question Id : 25498925215 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfefad # & sl Sexre snfchearer # 818 wiie oeHl & A1 Aeddh Yoy Uiscd UR dehalH a1 higer HAlfeeh
&oh gl 9 8T 87

Options :

1. ¢ e afda viargsd

2. % 39 A9 IR

3. % gierel Yeaa

4. % et T

Question Number : 42 Question Id : 25498925284 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In star topology, all devices connected to a central device by



Options :

1. ®* Hub only

2. ¥ Switch only
3. ® Router

4. ¥ Hub or Switch

Question Number : 42 Question Id : 25498925284 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

R autarst &, a+ft feaga __ gR1 ue i Rarsa @ 8 gl 2
Options :

1. ® %had gd

2. ¥ dhaa e

3. ¥ WX

4.« ga a1 f@g

Question Number : 43 Question Id : 25498938397 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
URL normalisation is performed by the:
Options :

1. ¥ Web crawler

2. # Web site

3. ® servers

4. % clients

Question Number : 43 Question Id : 25498938397 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
gAHARYA (URL) GHTRARRUT 38 gRT fohart ST &:
Options :

1. ¢ 99 hieR

2. % qq9rse

3. ¥ geR

4. ® FeIge

Question Number : 44 Question Id : 25498941577 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The decimal equivalent of binary number 010 is
Options :

1.2

2. %1

3.% 4

4. % 6

Question Number : 44 Question Id : 25498941577 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TR G241 010 ThT SAHCTT GAID T gHTT?
Options :

1.9 2

2. %1

3.%4

4. % 6

Question Number : 45 Question Id : 25498941581 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The correct syntax for the SUM function in Microsoft Excel is
Options :

1. ¥ =SUM(C1.C2.C3)

2. ®# SUM(C1,C2,C3)

3. ® SUM(C1+C2+C3)

4.+ =SUM(C1+C2+C3)

Question Number : 45 Question Id : 25498941581 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel &, SUM Wha=M & foru ga fRidey e 8?2
Options :

1. ® =SUM(C1.C2.C3)

2. % SUM(C1,C2,C3)

3. ® SUM(C1+C2+C3)

4. ¥ =SUM(C1+C2+C3)

Question Number : 46 Question Id : 25498941595 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following functions makes Microsoft Excel search for a certain value in a column (the
so-called 'table array'), in order to return a value from a different column in the same row?

Options :

1. ¥ COUNT
2. % SUMIF

3. ¥ VLOOKUP
4. * MAX

Question Number : 46 Question Id : 25498941595 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAmfafEa & 9 s 91t Microsoft Excel # Uk shiet (dUTeRAT 'daed RR') # Ueh A dg ol O ohar g,
difer 3t tfth & Qop S1eTT hietH U do oht Rest fohar 11 ah?

Options :

1. % COUNT

2. % SUMIF

3. ¥ VLOOKUP

4. % MAX

Question Number : 47 Question Id : 25498941601 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019, use key on your keyboard to switch between relative, absolute, and
mixed cell references.

Options :
1. % F1
2. % F2
3. % F3
4. ¥ F4

Question Number : 47 Question Id : 25498941601 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 #, Reifeq, srsaiqqe ik fcre da denf d Mo fR@a s g s has
it hT ITTNT e |

Options :

1. % H

2. % F2

3. % F3

4. ¥ F4



Question Number : 48 Question Id : 25498941606 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019, the Customize Ribbon option that helps create a macro is present in the
tab.

Options :

1. * Insert

2. % File

3. ® Design

4. ¥ Developer

Question Number : 48 Question Id : 25498941606 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 #, #tht fohue & # g hicdsy RaA fddhed 9 # HiSE gt 8|
Options :

1. % 3¢

2. % Isd

3. ¥ f&omeA

4, ¢ STAR

Question Number : 49 Question Id : 25498941622 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel, to quickly autofit all columns in a worksheet, you must click the button
and then double-click any boundary between two column headings.

Options :

1. ¥ Select All
2. # Clear All

3. # Delete All
4. % Undo

Question Number : 49 Question Id : 25498941622 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel #, fohelt gehefte & Gt sricl ol gia sifeifthe e & folg, et &ed WR fateh et ghm
3R fRR &t opferw &S & it foRelt oft It R saat-farren ahzem g

Options :

1. ¢ Tetae 37t (Select All)




2. ® fgeraR 3if (Clear All)
3. #® f3efie sifeT (Delete All)
4. % 317g (Undo)

Question Number : 50 Question Id : 25498941626 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The ASCII value of ‘B’ is

Options :

1. ¥ 66

2. % 97

3. % 32

4. % 65

Question Number : 50 Question Id : 25498941626 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘B’ I ASCII 719 T 872

Options :

1. ¥ 66

2. % 97

3. % 32

4. % 65

Question Number : 51 Question Id : 25498941647 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel, a pivot table is used to
Options:

1. # record a sequence of steps

2. ® repeat a sequence of steps

3. ¥ summarise data in a table

4. % test data in a table

Question Number : 51 Question Id : 25498941647 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel &, fUaic ¢qa spr3uaiT & fou fhar Stran g1
Options:

1. ¥ ROt I ohH ReplS e



2. % TROT T ShH g
3. ¥ 3271 i Uah difereht & Jaifdd ed
4. % fopdY arferert & ST T UI&ToT e

Question Number : 52 Question Id : 25498941651 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The binary equivalent of decimal 9 is
Options :

1. % 111

2.+ 1001

3.% 1111

4. % 10001

Question Number : 52 Question Id : 25498941651 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
ST AT 9 T T FAGEd T gHTT?
Options :

1. % 111

2. 1001

3.% 1111

4. % 10001

READING COMPREHENSION

SectionId :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :
Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Id : 25498921289 Question Type : COMPREHENSION Sub Question Shuffling Allowed

2549898040
2

Online
Mandatory

2549898081
No



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (53 to 57)
Read the given passage and answer the questions.

From my Uncle Podger's house to the railway station it was an eight minutes’ walk. What he always
did was start five minutes before the time and run.

Many fat gentlemen lived at Ealing and caught this train to Town. They all started late ; they all
carried a black bag and a newspaper in one hand and an umbrella in the other; and for the last
quarter of a mile to the station they all ran. People with nothing else to do gathered in the street
on fine mornings to watch them pass and shout encouragement to them. They did not run well,
they did not run fast; but they tried their hardest.

My uncle always got up early enough, but troubles seemed to come to him at the last moment.
The first thing he did after breakfast was lose his newspaper. Whenever he lost anything, my uncle
did not say to himself, “I am a careless old man. I lose everything. I can never find it again for
myself.” No; he always blamed everybody except himself.

“I had itin my hand a moment ago!” he would cry. “Perhaps you left it in the garden,” my aunt
would suggest.

“Why should I leave it in the garden? I don't want a paper in the garden. I want it in the train with
me."” “Have you put it into your pocket?” “Do you think I should be standing here looking for it if I
had it in my pocket? Do you think I am a fool?”

Then somebody would hand him over a folded newspaper from somewhere. “I do wish people
would leave my things alone,” he would say taking the paper angrily. He would open his bag to put
it in, and then taking a quick look at it, he would pause, speechless. “It's yesterday’s paper!” he
would shout, throwing it down on the table.

We found the right one for him at last; very often he was sitting on it.

Sub questions

Question Number : 53 Question Id : 25498921290 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this passage, the narrator is describing ___ anecdote.
Options :

1.+ afunny

2. *® anirritating

3. ® asilly

4. % an emotional

Question Number : 54 Question Id : 25498921291 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Why did the gentlemen run in the morning?
Options :



1. ¥ They exercised every morning by running.
2. # They ran to compete with each other.
3. ¥ They wanted people to cheer them when they ran.

4. ¥ They ran to catch a train in time.

Question Number : 55 Question Id : 25498921292 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main purpose of the people gathering in the morning was to the gentlemen running.
Options :

1. # taunt

2. ¥ buck up

3. #® laugh at

4. % help

Question Number : 56 Question Id : 25498921293 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Generally, what did Uncle Podger do with the newspaper?
Options :

1. # He leftitin the garden.

2. # He putitin his pocket.

3. ¥ Hesaton it.

4. % He putitin his bag.

Question Number : 57 Question Id : 25498921294 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“The first thing he did after breakfast was lose his newspaper.” This shows that Uncle Podger was:
Options :

1. # funny

2. ¥ absent minded

3. # irritating

4. % helpless

Question Id : 25498921289 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
fT Y TTeriar ohl U SR Ik SR WR usii & IR 2

R I GISSR & TR Y eTd R 1S fAFe Y dget g WR 11 3 gH=1 99T 9 Ui e ugdl 8l 2 hed g ST



YF IR 3 U

H3 AT Tooi 3felT H I8d & 3R T3 & ol 39 ¢ ol Udhsd &1 & Tt &R T & e &; 3 9+t gap g1 & T
HTeAT ST SR Toh THTEAR UF 3@ &, 3R gER 81 & Sasl; 3R WM & oy ges Hier &t ofest Ftend gft & forg @
Goft 9T e &1 S AT o OT IS I AT §idT & JoIg S S+ SiTd gU & & ol e IR 3ohg 8id & 8k
3 McTfed e o foTg STTaTst o &1 3 St aXg & T el urd &, 3 ST 9T 981 uTd ; aAfch Igie ot
RITAT hT |

TR TR gAAT Sice! I3d &, Afche Ih! TRt nfest uet # Ger gict of | A13a 3 91e Ikt a9 gl i 31U
AR U5 i @1 g1 411 & 919 off $© @t &d, TR /1 e 9 I8 -6 dhed foh, "H Yoh ATURATg ggT e g1 & 99
3o @ ST | fhe & 38 3 @ ge off 7181 Topar|" T&l; & gARI 31U+ ratrar I+t il aieft Sgvrd |

"3} o R UGt Ig W GTY H UT!" g A4, "G gHA T T | ©iS fear ghm, " A |t garra &t “qg 5d
Tifte & ot e A1fey? I3 &fid # SEgaR gl a1eq| § 39 0= 91y ¢ | drgar g1”

"eRIT S1TOR 3 37U Sie H 3@ forar 82" “eRIT SR olTaT ¢ foh SR g A 59 | giar df 3 59 I8 @l gia
¢&T T1Ry? T g enTaT & fh A g g2

ot hgl & hls I Teh HST 3T @SR YHT &1l "H I1gdT g foh i A =it archet BI€ &," I8 T | @aR od
BT ShedT| I8 I8 T@H o folg 3101 ST @ierdT 3R fii 39 WR Ueh o STeld §U 3MaTeh I S| “Tg hel ohl &idT f
P IEAR g!” I 3¢ A TR theh o feerdT|

JTERAR g To! dTet i ¢& T, IRR 98 I WR 98 ST Hhed 1

Sub questions

Question Number : 53 Question Id : 25498921290 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T TR, hUTPR Uch __ IJURAT ahl gUid o 38T 8
Options :

1.  HSiTiehan

2. % qohelithes

3. % wgarqot

4, = HTg-TcH<h

Question Number : 54 Question Id : 25498921291 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ool gag T 9h?

Options :

1. ® 3 A GIg ISR A dd U

2. % 3 Qoh R & 91y ufawet e & forg 9t



3. ¥ g 91gd o foh @ Shed a7y I WicTfed el
4.+ 3 THY TR Teh &1 UhaA o felg 9|

Question Number : 55 Question Id : 25498921292 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

NI o g Uohd 811 ol hRUTGIed @l __ o
Options :

1. ® JUg™

2. ¥ ol Ulcried AT

3. ¥ @RggAr

4. % Y T heAT

Question Number : 56 Question Id : 25498921293 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3T dR TR 3iehe] UIGoR = 3R & I1 T foparr?

Options :

1. ¥ 35 38 i 7 sl
2. % Igi4 34 37U S H @l
3. ¢ 98 I R d& 7T

4. % Igi< 8 U= T H 3@

Question Number : 57 Question Id : 25498921294 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
1A & SIS ITehl UG ShIH 37U GHTIR U hl @IHT ATI' 3Y UdT Il & foh == diger g

Options :
1. ¥ #oieR
2. ¥ YIhS
3. * fasfas
4, % ASTR
QUANTITATIVE APTITUDE
Section Id : 2549898041
Section Number : 3
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898082
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What approximate value should come in place of the question mark (?) in the following question?
(You are not expected to calculate the exact value.)

389+ (2.6x69)=7

Options :

1.9 22

2. %17

3. % 28

4, % 12

Question Number : 58 Question Id : 25498928851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

farfe e Yo # e et (?) & TR W HATAT A a0 g g0 (3 FéF A A
TR G F B
389 + (26 x 69) = ?

Options :
1.¢ 22

5> % 17
3 % 28

4 % 12

Question Number : 59 Question Id : 25498928863 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
What will come in place of question mark (?) in the following number series?

7, 20, 46, 98, 202, (?)
Options :
1. % 420
2.9 410
3. % 310
4. % 320

Question Number : 59 Question Id : 25498928863 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fahedl & & oie €t et A e @t | usfag (?) & W U 311 Hehd! 8?2

7, 20, 46, 98, 202, (?)
Options :
1. % 420
2.9 410
3. % 310
4. % 320

Question Number : 60 Question Id : 25498928932 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What value should come in place of the question mark (?) in the following question?
1.5 X78+05=7

Options:
1. % 238
2.9 234
3. % 243
4. % 216

Question Number : 60 Question Id : 25498928932 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fafaf@a gea & 9o REa (?) & T 9T A7 AT AP
15X 78+05="

Options :
1. % 238




5 v 234
3 % 243

4 % 216

Question Number : 61 Question Id : 25498929111 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a class of 30 students, there are 17 girls and 13 boys. The average age of the boys is 10 years. If
the average age of the whole class is 12 years, then what is the average age of the girls?

Options :

1. % 12.72 years
2. % 12.92 years
3. % 13.12 years
4, % 13.52 years

Question Number : 61 Question Id : 25498929111 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
30 facanfaat &1 e A, 17 Fgforar 3 13 o5% §1 oo A Hwd g 10 W g1 A o Fa A
Hea 3 12 78 § & wEtet A ded 39 A R

Options :
1 % 1272 ag

> % 12.92 a¥
3 % 13.12 a§

4 v 1352 a¥

Question Number : 62 Question Id : 25498929427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the sum of the first 7 terms of an arithmetic progression is 63 and the sum of its next 7 terms is
161, then the 14th term of the progression is:



Options :
1. % 26
2.9 29
3. % 39
4, % 42

Question Number : 62 Question Id : 25498929427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

1.% 26

2.« 29

3 % 39

4 % 42

Question Number : 63 Question Id : 25498929430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[f the mean of the given distribution is 9, then p is a solution of the equation:

xi |[4] 6] 910 15
fils|wo]1w0] p]| p+1

Options:
1@ X —4x—21=0

5 % X°—4x+28=0

3 % X¥*+4x+21=0

e X +4x—21=0

Question Number : 63 Question Id : 25498929430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
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xi|4|6 [9 [10]1L
fils|wo]|10]p|[p+1

n

Options:
1. ¢ x2—4x—21=0

2 % x2—4x+28=0
3 % x> +4x+21=0

4% x2+4x—21=0
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Question Shuffling Allowed :

Question Number : 64 Question Id : 25498910062 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following words, which one will come second if they are arranged as per their order in

an English dictionary?
Options :

1. ®* Fraudulent

2. ® Fraught

3. ¥ Fraternity

2549898042
4

Online
Mandatory

2549898083
Yes



4. % Franchise

Question Number : 64 Question Id : 25498910062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # Fraudulent
2. * Fraught
3. ¥ Fraternity

4. ¥ Franchise

Question Number : 65 Question Id : 25498910153 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to
the first word.

Igloos : Canada :: Rondavels : ?
Options :

1.+ Africa

2. * Rangoon

3. * Russia

4. % Indonesia

Question Number : 65 Question Id : 25498910153 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ 31thichr
2. % A
3. % &9

4, % g

Question Number : 66 Question Id : 25498919031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Select the option that means the same as each of the given words.

Canoe, Raft, Wangan
Options :

1. % Dinghy

2. % Shallot

3. ¥ Canopy

4., % Submarine

Question Number : 66 Question Id : 25498919031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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& (Canoe), Iw (Raft), @< (Wangan)
Options :

1. ¢ Shift (Dinghy)

2. ® g¢ 're (Shallot)

3. % zy&ar (Canopy)

4, % yagsst (Submarine)

Question Number : 67 Question Id : 25498919623 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Select the alternative with the most appropriate description about these three words.

Voodoo, Sorcery, Necromancy

Options :

1. # They are ancient arts found in sculptures.

2. ¥ They are terms connected with black magic.
3. # They are ancient scripts.

4. ®* They are means of communication of pre-historic age.

Question Number : 67 Question Id : 25498919623 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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qg : G- : Ua-faem
Options:
1. ® 3 yrhe Shelr]d € St Jfcal # S ol et 81



2. ¥ A Flel S1G T IS U 8
3. ® gy faf g
4, % 3 yg-ufagri&en gim o HoR ol Qe g

Question Number : 68 Question Id : 25498939829 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four words have been given out of which three are alike in some manner, while the fourth one is
different. Select the word that is different.

Options :

1. * Cygnus
2. * Orion
3. # Scorpio
4. ¥ Vega

Question Number : 68 Question Id : 25498939829 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® g9 (Cygnus)

2. % 77 (Orion)

3. ® gfges (Scorpio)
4.« & (Vega)

Question Number : 69 Question Id : 25498940049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four pairs of words have been given, out of which three are alike in some manner and one is
different. Select the word-pair that is different.

Options :

1. ® Sahara: Africa

2. # Thar : India

3. ¥ Kalahari : America
4. ® Gobi: Mongolia

Question Number : 69 Question Id : 25498940049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ ggRT ; 3rthich

2. % YR YRd

3. ¢ FAER : AR

4. ® et ; d@mifern
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Section Number : 5

Section type : Online
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Number of Questions to be attempted : 6
Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898084
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895324 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Dalmianagar of Bihar is famous for:
Options :

1. # silk

2. ¥ cement

3. ® leather

4. = jute

Question Number : 70 Question Id : 2549895324 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
U8R &1 SR fohddh g uflig 82
Options :
1. % 1M
2. ¢ HiHe
3. ¥ 978



4. % ¢

Question Number : 71 Question Id : 2549899664 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Government of India has decided to declare which of the following rivers as the ‘National
River’ of India?

Options :

1. % Ganga

2. * Yamuna

3. ¥ Brahmaputra

4, = Kaveri

Question Number : 71 Question Id : 2549899664 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

WRA TehR = Ffafed J 4 forg 7 il ‘Tfg 7d & wu F 9iftd o o oy foar 82
Options :

1.+ Tm

2. % gl

3. ® §gIgA
4. % pre

Question Number : 72 Question Id : 25498912800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Duleep Trophy is associated with the game of:
Options :

1. ¥ hockey

2. ¥ cricket

3. # football

4. * padminton

Question Number : 72 Question Id : 25498912800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
feefi gt fA 7 & forg Wt @ Haifad 82
Options :

1. % gt

2. ¥ fehdhe



3. ® tedid
4. % geffiea

Question Number : 73 Question Id : 25498922845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ascaris is found in:

Options :

1. ¥ the intestine of man

2. ® the muscles of pig

3. # the coelom of human

4. * the blood of man

Question Number : 73 Question Id : 25498922845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ThiRY (Ascaris) F=fafea & 9 foad g Sirar 8?2
Options :

1. ¢ T3 h 3ridi A

2. % 3R i Aigueft A

3. ¥ A & Hietw |

4, % I & Th H

Question Number : 74 Question Id : 25498933642 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following amendments of the Constitution of India deals with the issue of
strengthening of the Panchayat Raj?

Options :
1. % 42nd
2. ® 44th
3. 73rd
4. ® 86th

Question Number : 74 Question Id : 25498933642 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TR e o1 =1 & @ ol a1 Gentes darad 9T i Feied! & Hefdd 82
Options :

1. % 424qi



2. % Adai
3. v 73ai
4. ® 86ai

Question Number : 75 Question Id : 25498935417 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Economics is what it ought to be’ - this statement refers to:
Options :

1. % normative economics

2. # positive economics

3. ¥ monetary economics

4. % fiscal economics

Question Number : 75 Question Id : 25498935417 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“31ARITE a8 & STt I g1 AT Ig e A & T fohga Ieifda g2
Options :

1. « e srfemst (Normative Economics)

2. ® garcHeh 1dRme (Positive Economics)

3. # Hifgep A (Monetary Economics)

4. % Ity 3rfme (Fiscal Economics)
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Question Number : 76 Question Id : 25498945238 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun
during this process as they get to explore new arenas.
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English Typing Test

Section Id : 2549898045
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898086
Question Shuffling Allowed : No

Is Section Default?: Yes

Question Number : 77 Question Id : 25498941468 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Earthing is a component of an electrical circuit that is of utmost importance. It can be either
a neutral earthing or an equipment earthing. Making proper earthing is a must for safety. It
is vital to know about its utility and about the impending risks if earthing is not done
rightly. Knowing the earthing properly will promote your safety. With proper earthing
installed you may stay safe while using your electrical gadgets. Earth has a conductive
surface. Due to this particular reason it is used as a safe charge conductor and neutralizer
for universal standard of all electric systems. It is in use from the very beginning of the
electrical distribution system installation. Electricity is essential in our life. It also has
certain dangerous risks imbedded in its distribution system that may have perilous effects
on the users of these electrical systems if anything goes beyond the rule and safety
protocols. Earthing is one such safety protocols in an electrical system. Any fault occurs in
an electrical wiring system it mostly leads to impact damage. It may also sometimes cause
the failure of the equipment. During the fault phase a potential difference occurs between
the metal parts of the electrical system. If anyone by chance gets in direct touch with these
parts there is a high chance that they will be exposed to an electric shock. Many a times
shocks like these could be fatal. Considering such these risks the system of creating an
earthing was introduced and the convention is still on. Earthing and grounding are two
different words. But they are used for conveying the same meaning. In an electric wiring
system the earth or ground is a conductor that provides a low barrier path for the earth to
prevent hazardous voltages affecting the devices. The term earthing and grounding means
connecting the electrical system and equipment to the ground by using a suitable
conductor. Earthing is a process customarily used to increase the safety of electrical
appliances and to prevent electrical shocks. Earthing is used for multiple purposes. It saved
human life from the danger of electrical shock. It provides an alternative path for the
current to flow so that it will not impose any life risk on the user. It is also used to provide a
stable platform for the operation and safety of sensitive electronic equipment. It maintains
the voltage at any part of an electrical system at a known value to prevent the risk of the
supply of high voltage on the appliances. An appliance may be damaged if it is exposed to
such high voltages. It is also used to protect buildings. Earthing is also used to provide a safe



path to dissipate lightning and short circuit currents. Earthing is also very important from
technical point of view. It has become a mainstream practice in the electrical industry for
creating an electrical circuit due to some excellent advantages. The earthing system helps
to detect all the defects that occur in the phase. It protects against electric shock and
prevents circuit from damage. The system of earthing also helps in case of insulation faults.
It helps eliminate the risk of fire or explosion in the circuit. Earthing in an electrical system
can resist damage to electrical appliances by preventing excessive current through the
circuit.
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